10.

11.

The cabinet approved the MoU between India and which country on peaceful uses of outer

space ?
(a)  Sri Lanka (b) Bhutan
(c) Vietnam (d) Thailand

PRADAN portal, which has been in the news recently, is associated with which of the
following organisations ?

(a) DRDO (b) ISRO

(c) UPSC (d UGC

Which of the following organisations is to provide USD 100 million to improve power
distribution in Bengaluru ?

(a) AIIB (b) World Bank

(c) ADB (d) IMF

Late General Bipin Rawat was appointed the first C.D.S. on which of the following dates ?
(a) 31% December, 2019 (b) 31% October, 2019

(¢) 31%January, 2019 (d) 31% March, 2019

The cabinet approved the MoU between India and which of the following countries in
Solar Energy Sector ?

(a) France (b) Uzbekistan

(¢) SriLanka (d) Nepal

Union External Affairs Ministry has launched which of the following categories of website
to highlight ‘Brand India’ ?

(a) Economic Diplomacy Website (b) Counter Terrorism Website

(c) Cyber Diplomacy Website (d) Cultural Growth Website

International Science Literature Festival, ‘Vigyanika’, was organized on the birth
anniversary of which of the following Indian personalities ?

(a) Sir C.V. Raman (b) Srinivasa Ramanujan

(c) Jagdish Chandra Bose (d) Vikram Sarabhai

Which of the following city airports is set to be renamed as Maryada Purushottam Sri Ram
Airport ?

(a) Varanasi (b) Haridwar

(c) Ayodhya (d) Lucknow

India recently signed an MoU with which of the following countries regarding the
partnership in “Specified Skilled Worker” ?

(a) Singapore (b) UAE

(c) Japan (d) Saudi Arabia

The train named ‘Vasuki’, that is in news recently, is associated with which of the
following railway zones ?

(a)  Southern Railway (b) Konkan Railway

(¢)  South-East-Central Railway (d) Northern Railway

India recently participated in the first meeting of Joint Working Group in the field of
Renewable Energy, with which of the following countries ?
(a) Saudi Arabia (b) Babhrain

(c) France (d) Japan
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e AEHEA 3 STl fafer % iyl IuRT W wRa 3R fRw < % st aWEiar STaE
aoli 4 7

(a) Hfictent (b) WM (c) Toaaam (d) UTEATg
F1e1 € § el § 6T PRADAN Uida e # & fopm e @ qen 8 7
(a) TLIWZ3MN. (b) TEU (c) IHwaH. (d) I .

STTelE W forreft foawor # gar < for 100 faform smfeh! Ser yem o & fo = 8 3 e
AT ?

(a) TIE.ARH. (b) fads (c) TEH. (d) 37E.TH.US.
. S U e i v €. €1.wE. fferiaa o 9 fore fafr w1 frgem fopam mam o 7
(a) 31 femma, 2019 1 (b) 31 3TeR, 2019 I

(¢) 31 e, 2019 %l (d) 319, 2019 !

Hhmge 3 TR S & § YR 37 = 3 | form w1 3 off= wwsiiar [ w61 we | 2
(a) % (b) SSuferE™ (c) etehr (d) U

Fa foew TeTer™ 3 Fie 3fear o1 9T w1 & ford T O @ T oft Y Se@se o i
g7

(a) THMIHS fSTAme dearge (b) IS A JeHTES

(c) UTs feraame Semse (d) oA MY ATETE

FER fosm anfee 3 famfaesr, &1 stRieH = 4 @ fopg vt safdaea 1 et @
ferm R an ¢

(a) WHH T (b) AfEmumTE (o) TEemgeE () fosen amas

e 1 @ form w180 BATE 312 1 T SeeTeht HaTe] TeNTH HH BT 311 T SR ?
(a) ST (b) BRER (c) 3/E (d) &ETH

I 3 &t € 4 “fafd ot st o areier < gey  f= § 9 fohd <o & |y we |
T I e fopd g 7

(a) TmER (b) ITE. (c) WM (d) T INF

FA R E @I A W I’ T R A A A frr e IR A R 7

(a) clofiled  (b) iU (c) clagEAsriTE(d) I e

WRA A BT & H T 1 9 fohe 91 % |19 31e Sl o & | §g9d 1 g i Ul deeh §
am for 7

(a) TS INE  (b) & (c) E (d) S
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12. National Skill Development Corporation (NSDC) has partnered with which of the
following companies to provide early skill development to students ?

(a) Dell (b) HP

(c) RBI (d) ISRO
13.  Who was the Prime Minister of England at the time of Indian independence ?

(a) Winston Churchill (b) Clement Attlee

(c) Ramsay MacDonald (d) Harold Wilson
14. Who was the last ruler of Mauryan dynasty ?

(a) Ashoka (b) Dashrath

(c) Bindusar (d) Brihadratha
15. Who was the first President of Indian National Congress ?

(a) Dadabhai Naoroji (b) G.K. Gokhale

(c) W.C. Banerjee (d) Smt. Annie Besant
16. In which year for the first time the split of the Indian National Congress took place ?

(a) 1907 (b) 1909 (c) 1917 (d) 1939
17. Who was the last Guru of Sikhs ?

(a) Guru Teg Bahadur (b)  Guru Har Kishan

(c) Guru Govind Singh (d) Guru Ramdas
18. Who wrote the book named ‘Humayun Nama’ ?

(a) Humayun (b) Abul Fazal

(c) Gulbadan Bano Begum (d) Asmat Bano Begum
19. At which place, Gautam Buddha got enlightenment ?

(a) Gaya (b) Lumbini (c) Sarnath (d) Kushinagar
20. ‘Kathasaritsagar’ was written by whom ?

(a) Somdeva (b) Kalhana (c) Kalidas (d) None of these
21.  Which ruler of Delhi Sultanate strongly implemented the market policy ?

(a) Itutmish (b) Balban

(c) Alauddin Khilji (d) Muhammad Bin Tughlaq
22.  Who constructed Buland Darwaza ?

(a) Akbar (b) Shahjahan

(¢)  Quli Qutub Shah (d) Ibrahim Sharqi
23.  What is the number of states in India in 2021 ?

(a) 27 (b) 30 (c) 29 (d) 28
24.  Which of the following is not related to plateau of Peninsular India ?

(a) The Bundelkhand Upland (b) The Marwar Upland

(c) The Deccan Plateau (d) The Western Ghats

25.  Which of the following pairs is not properly matched ?
(a) Hirakud Dam Project — Mahanadi (b) Tehri Dam — Yamuna
(c) Rihand Valley Project — Rihand (d) Sardar Sarovar Project — Narmada
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APS

TER et foepra T 3 B-sEnst #i 3y e fowmm yem w3 & o f= o 9 foea
ST & T A AT R 7

(a) s (b)y T (c) FR IS (d) &

A <hl ST o THIA STAUS 1 TUHHAT I AT 7

(a) fomaa=Rla ) = wed () W iwsies  (d)  Bcs foemm
AR 1 3T ATHh i &7 7

(a) 3Th (b) MY (c) TegER (d) &Y
AT TETT I b TUT HAHF D I ?

(a) CEMEANST (b) hH MEd () sy HLaHT (d)  fwd TheEw
I TERT i3 § Hayem fawrs forg o gam 2

(a) 1907 (b) 1909 (c) 1917 (d) 1939
el & R E R S 7

(a) ARG (b) TEFE (o) TUH<EE (d) ToUHeE

GHRIATAT T T&eh oh ToT TeoheH i ?

(a) T (b) YA HoTeA (c) TG SIS (d)  3THHA S ST
e g ! Tohd T W T 61 I1fed g3 2

(@) T (b) et (c) WY (d) FEFR
SUERAETTC forgeh gr forei 1€ 2 2

(a) HmHed (b) HeEW (c) ehrefierd (d) T EHE T
fooeft Toama o ford wmaes = STSIR if w1 Harar & An] fopa ?

(a) goqa@  (b) SerEd (c) HeEH faerslt (d) Hewe fod geren
oA qraTaT’ 1 fmfor fope fepam o 7

(a) 3Fh (b) TESTEl (c) PeNBIIWE () FTIEH wrehi
2021 ® WA § TSH1 hl ST fehai & ?

(a) 27 (b) 30 () 29 (d) 28
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(a) FeTEUE I=YH (b) ARETS F=YH
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(a) ENIpe i TRETSHT — TEe (b) fegti oty —amm
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36.

37.

Arrange the following states in the ascending order of their area :
(a) Rajasthan, Madhya Pradesh, Uttar Pradesh, Gujarat
(b) Madhya Pradesh, Uttar Pradesh, Gujarat, Rajasthan
(c) Uttar Pradesh, Gujarat, Rajasthan, Madhya Pradesh
(d) Gujarat, Rajasthan, Madhya Pradesh, Uttar Pradesh

Which of the following is the boundary between India and Afghanistan ?

(a) McMahon Line (b) Durand Line

(c) Palk Strait (d) Radcliffe Line

Which one of the following pairs is not properly matched ?

(a) Ohio—U.S.A. (b) Wi-Ho — Japan

(c) Darling — Australia (d) Nile — Egypt

Which one of the following pairs is not properly matched ?

(a) Juang — Odisha (b) Raji — Gujarat

(c) Kuki— West Bengal (d) Garasia — Rajasthan

Which of the following pairs is not properly matched ?

(a) Chamoli — Alaknanda (b) Pithoragarh — Nandakini

(c) Rishikesh — Ganga (d) Satpuli — Nayar

Imphal is the capital of which state ?

(a) Arunachal Pradesh (b) Manipur

(c) Nagaland (d) Assam

Which of the following is not a type of wind ?

(a) Khamsin (b) Riss

(c) Loo (d) Blizzard

Members of International Court of Justice are appointed for a period of

(a) 2 years (b) 3 years (c) 5 years (d) 9 years
The Attorney General of India holds office

(a) For aterm of 3 years (b) For aterm of 5 years

(c) For aterm of 6 years (d) During the pleasure of the President
How many times has the President declared National Emergency so far ?

(a) Only once (b) Twice (c) Thrice (d) Never
Election Commission of India is a

(a) Constitutional Body (b) Judicial Body

(c) Supervisory Body (d) None of these

The term ‘Mutatis Mutandi’ means

(a) suppression of truth

(b) in proportion

(c) to that extent

(d)  with the necessary changes in point of detail
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26. T T 1 37k &AHA o SFTAR STRE! 38 H SFfErd T :
(a) TSRAM, ALY YeH, IR IS, TR (b)  HET T, I TS, IO, TS
(c) 3T ICH, oI, TEIH, AA TS (d) oI, TSI, TET T3, 3T Tem

27. fr=fafga # @ Wi s s s A e Hi 2 7
(a) BepHrE Higm @ (b) T Hiur @
(c) UThEZ ) Y
28. T 3w O @ oo T gRfea TE R 2
(a) STEMEN (3AfEN) — .U 3@ (b) -8 — AU

(c) Sifef — stegferan d) Ha-fim
29. = i | @ o gafera T8 R 2
(a) ST — 3nfewn (b) TR — ToRTd
(c) Fohl — 4. S (d) TR — T
30. =T gmi ° @ &H s gAfad @i 7 7
(a) I — B (b) fueirrre — Ferfe
() R [SehsT — T (d) — TR
31. S fpd TS Rl T @ 7
(a) 3TV TG (b)  HIUTR (c) Hmets (d) IEH
32. T HAIHTH I FI ISR TE R ?
(a) @HEH (b) T& ) d) f==e

33, YR AR % geei o fgfe i srafy gt 2
(@ 298%f® (b) 3TFH TR (c) 58 (d) 9a¥F e

34, YRd % HEREETE] o hidehld i 7RI 3

(a) o a9 T HRHA (b) ia ¥ T HRIH

(c) ®: a9l HREHA (d) TgHfa o yEG-9d qeh
35. Tgufd 3 379 deh foha=t SR YT JATATdRTA Y TITuT ht 8 7

(a) THER (b) TR (c) dHER (d) ¥t T
36. W <1 fat= 3T 8 U

(a) TR (b) =Ry fyem

(c) e frehm (d) T Y HIE T
37. “HUE HevEl” U w1 31 7

(a) | BT M (b)  ITUTAA:

(c) 3UHmIdH (d) IUTIYI IiEd afgd
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45.

46.

47.

48.

49.

50.

Who was the first woman Judge of the Supreme Court of India ?
(a) Justice Sujata Manohar (b) Justice Fatima Biwi
(¢) Justice Ruma Pal (d) Justice Leela Seth

The headquarters of International Labour Organisation is situated in :
(a) Geneva (b) Prague (c) London (d) The Hague

The term “ex post facto” means

(a) for a base cause

(b) done after another thing and operating retrospectively

(¢) facts which cannot be altered though it should not have been done
(d) let justice be done

The term “autre droit” means

(a) the right of another (b) against on the other hand

(¢) de facto (d) during the pleasure

The term “pro bono publico” means

(a) in proportion (b) to that extent

(c) byit’s own force (d) for the public good

The phrase “de facto” means :

(a) All the facts (b)  All the facts and figure

(c) Bonafide (d) For all practical purpose
Which of the following country is a permanent member of the Security Council ?
(a) France (b) Germany (c) Japan (d) South Korea
Child Labour (Prohibition and Regulation) Act was enacted in :

(a) 1986 (b) 1987 (c) 1988 (d) 1989
An act of unauthorised entering into another’s property is :

(a) Breach of property (b) Trespass

(c) Trover (d) None of these

Who is known as the frammer of the Indian Panel Code, 1860 ?
(a) Lord Hasting (b) Lord Denning (c¢) Lord Macaulay (d) Lord Wilberforce

The management of East India Company was vested in the hands of :
(a) Governor (b)  Governor-General
(¢) Governor and 24 Directors (d) Managing Director

In which of the following year, Madras Agency was raised to the status of Presidency ?
(a) 1639 (b) 1665 (c) 1686 (d) 1687

First Law Commission of India was constituted under Charter of :
(a) 1726 (b) 1813 (c) 1833 (d) 1853
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38. YRAIE I=dH =TT hi GoH Higen =amedis ot

(a) AR GATT HATE (b)  =arrfd wrfem et

(c) —arrmfd & T (d) —mmfd ofen @8
39.  IER H9 GSH 1 JEITed fera 8

(a) Tmard (b) UMH (c) a=<AH (d) 71H
40. VT IR el YegTee bl Y B

(a) ITAHEY (b) dcTaft JuTa

(c) M THIE B W AL HHT ST (d) = R S
41. 3P gie” veqraet i 379 2

(a) UURERR (b) &g (c) T&a: (d) THE-UI d
42. W S ufsTshl” Trearerel! o1 37 @

(a) STIUTAA: (b) 39 €T aH (c) wWeAd (d) SHfga#
43, G “fs el (amdfeeh) o1 319 8

(a) aftae (b) =i a7 w 3MTehs

(c) HMTEYEh (d) aft SR yEeE & for
44. TfefEa @ 9 %9 @1 ¢n gean uieg 1 @ gew g 7

(a) W (b) S (c) WM (d) gferoft ifr
45. 91 o™ (Fey 3t fema) srfufrm stfufatog foem mn

(a) 19867T (b) 1987% (c) 19887% (d) 1989T
46. Tere gEX afeh sl Hufd § 3TIRRd YoRT HET 8

(a) WU T IocTed (b) AfER

(c) EUTEdH o ford swarg (d) Y HIETE

47. 3T @ R <ve digar, 1860 w1 AT & ?
(a) wegfm (b)) wEsFm (c) e T (d) e faase™

48. 3% sfvgan SHrat o yaee ferareh g | fafga ar ¢

(a) TR (b) TER-FHA

(c) TER 3R 24 SrFeH (d) BT SEER
49. frefafga o @ form o o ngr woidh i Jefidet 1 et fean mm o ¢

(a) 1639 (b) 1665 (c) 1686 (d) 1687
50. A o1 9w fafer s fore =mdt o qga mifea gam e ?

(a) 1726 (b) 1813 (c) 1833 (d) 1853
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52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

In which year Britishers established a trading factory at Surat ?
(a) 1600 (b) 1612 (c) 1615 (d) 1623

Mayor’s Court was established under the Charter of :
(a) 1781 (b) 1787 (c) 1726 (d) 1753

What is the ancient name of ‘Uttarkashi’ ?
(a)  Sudrashan Kshetra (b) Barahat
(c) Laksheswar (d) Barnabrta

Chandpur Garhi is situated in which district ?
(a) Chamoli (b) Nainital (c) Bageshwar (d) Uttarkashi

Tehri state was merged in the ‘Indian Union’ in the year
(a) 1920 (b) 1932 (c) 1949 (d) 2000

Which of the following has not worked as the Commissioner of Kumaon ?
(@) Trail (b) Lashington (c) Batton (d) Palmstorn

At the time of British Government, the unirrigated land in hill region of Uttarakhand was
named as :

(a) Tjar (b) Talaon (c) Upraon (d) None of these

Who was the founder of “Uttrakhand Kranti Dal” ?
(a) Hemwati Nandan Bahuguna (b)  Dr. Devi Dutt Pant
(c) Shekhar Pathak (d) Bhairabh Dutt Dhuliya

The Roorkee Engineering College was established in :

(a) 1840 AD  (b) 1847 AD (©) 1851 AD (d) 1854 AD
Mussoorie firing incident occurred :

(a) 2" October, 1994 (b) 2" September, 1994

(c) 10" October, 1994 (d) 10" November, 1994

Which one of the following tribes practised trade with Tibet before China war of 1962 ?
(a) Raji (b) Boxa (c) Bhotiya (d) Tharu

‘BAGWAL’ the famous ‘stone battle’ is played in :
(a) Dwarahat Fair(b) Gannath Fair (c) Devi-dhura Fair (d) Nanda Devi Fair

When was the Uttarakhand Investors Summit-2018 held in Dehradun ?
(a) 7™ and 8" September (b) 7" and 8" October
(c) 7" and 8™ November (d) 7" and 8" December
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51, ford 99 9 STUSH LA | AT haed] TA1ioa i off ¢

(a) 1600 (b) 1612 (c) 1615 d) 1623
52. I 12 fopd AT o dgd w1 fepam T A 7

(a) 1781 (b) 1787 (c) 1726 (d) 1753
53. IIATHIN oK Y= TH AR ?

(a) AT  (b) TIEER (c) oA&TR (d) SROTEd
54. =i e form SUe | fra B ¢

(a) I (b) At (c) SR (d) TR
55. gl = o1 “IRdiE-wa | foefiieRr gam o

(a) 1920 (b) 19327 (c) 19491 (d) 2000H
56. Tforiad § A i FHIS HUTR & &9 § SR T2l &I ?

(@ (b) wif3imEd (c) A (d) T
57.  Tafes smem & Su@ve % vddi et <t arfifa s w61 am feam wn

(@ 3N (b) TS (c) ST (d) T & HS T
58. ITAUGUS Shifd A’ o TEATIh hid & ?

(a) BHEdHCH SEIo (b) . e ud

(c) S IEH (d) oE T yfern
59. Fgeh! SoTRaT hiciel ot T g8 off

(a) 18405%. (b) 1847%. (c) 1851%. (d) 1854%.
60. TE TICHRIS’ 3T AT

(a) 2 3T, 1994 (b) 2 foaesy, 1994

(c) 10 3TFSH, 1994 (d) 10 TR, 1994
61. 1962 % FH-Ig A yd f=feiRaa § & A =t S fossa & Ao st off 2

(a) TR (b) e (c) wifean (d) o=

62. UG YR IG TATA’ WAl ATl &
(a) ERERAAH (b) TWHRITAH  (¢) NYUAAH  (d) TN AAH

63. TGS Foed HHTH-2018 SEUGH 1 s 31T 7
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64. When was the Rural Development and Migration Commission established in Uttarakhand ?
(a) 17" August, 2016 (b) 17" September, 2017
(c) 17" October, 2018 (d) 17" November, 2018

65. What is the percentage of working population in Uttarakhand according to Census-2011 ?
(a) 37.43 Percent (b) 38.43 Percent (c¢) 38.53 Percent (d) 27.43 Percent

66. Who discovered Nainital ?
(a) P.Barron (b) William Douglas (c) Venus (d) Gorge

67. Which one of the following districts in Uttarakhand is the highest producer of apples ?
(a) Almora (b) Nainital (c) Uttarkashi (d) Chamoli

68. Which one of the following Articles of the Constitution of India directs State Governments
to organise Village Panchayats ?

(a) Article-32 (b) Article-40 (c) Article-48 (d) Article-51

69. The disputes regarding the election of the President is decided by :
(a) The Parliament (b) The Lok Sabha
(¢) The Supreme Court of India (d) The Election Commissioner

70. The Chief Minister of a State is appointed by :
(a) The President of India (b) The Governor of the State
(¢) The Chief Justice of the High Court (d) The State Legislature

71. The resolution for removing the Vice-President of India can be moved in the :
(a) Lok Sabha (b) Rajya Sabha
(c) Either House of Parliament (d) Joint Sitting of Parliament

72. The Judges of the Supreme Court hold office till they reach the age of
(a) 58 Years (b) 60 Years
(c) 65 Years (d) There is no upper age limit.

73. If a Panchayat is dissolved, elections are to be held within
(@) Onemonth (b) Six months (c) Nine months (d) One Year

74. The Oath of Office to the President of India is conducted by :
(a) The Chief Justice of India (b) The Prime Minister
(c) The Vice-President of India (d) None of these
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64. IAUEe H form a9 U forehTd U YA SR o1 7T fomam R 2
(a) 1737, 2016 (b) 17 faawr, 2017
(c) 17 3RS, 2018 (d) 17 Faw=, 2018

65. SFTUMT-2011 o 3TUR TGS B SRS SHe 1 Ifasd #1872
(a) 37.439fdw@ (b) 38.43ufaed () 38.53%fasa (d)  27.43 wfawa

66. <idaTer <hl @it fepe i 7

(a) W@ (b) fafermerem (o) foa (d) T
67. 3Ior@ve § fefefaa d @ s 91 SYe O &1 Gaifieh IdTeeh 3 7

(a) 3TcHISl (b) Far (c) ITATHEA (d) =

68. T Tiaa™ 1 711 § & o 91 3TJ<0g TSy TR i T T ! TS i &g HeRd
HAE 7

(a) W32 (b) ITEBT 40 (c) IIT=Hg 48 (d) 3rgese 51
69. Tyl % AT geeh foarel < TETeT W Ao fean Smar 2

(a) HESEM (b) e @G

(c) Y o Har=d =R grRI (d) Trafem 3w g
70. TSI < gEawt i i 6 9Tt B

(a) WA o UL gRIT (b) TSI & TSIUTA g

(c) 3 AT o G ~efis gry (d) T fagm-mvea g
71.  WRA % IU-TFI ! U¢ H FH 1 TEATE A FhT ST Hehell 2

(a) <HEHH (b) U= EAH

(c) wHg fopet ff wea o (d) Gug S TIH d3h H
72. AT AR o AT 37T T U¢ T & 1@ Tohdl % |

(a) S8adeh (b) 60T H

(c) 6598 h (d) T T T TE R |
73. 9 TG W 6T ST & Al 8ok G fohdl ST v &

(a) U HIE % 3TaT (b) : T8 L

(c) It HTE e 3T (d) TH IS b T
74.  WRA % U o1 I fearrh ardt 2

(a) WA o &I IR gRa (b) U g

(c) W % IU-TFUd grI (d) T Y HIE T
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75. How many seats for the Scheduled Castes are reserved in Lok Sabha ?

(a) 40 (b) 321
(c) 1/10 of the total members (d 84
76. Who was the first President of Constituent Assembly ?
(a) Rajendra Prasad (b) B.R. Ambedkar
(c) Sachidanand Sinha (d) C. Rajgopalachari
77. The decision to conduct the election of the Panchayats is taken by whom of the following ?
(a) By Election Commission (b) By the Union Government
(c) By the State Government (d) By the District Magistrate

78. Which one of the following “Operating System” is invented in University ?

(a) DOS (b) UNIX (c) Windows-10 (d) None of these
79. Which one of the following is a Translator ?
(a) Compiler (b) Memory (c) MS-Office (d) None of these
80. Which one of the following is an example of RDBMS ?
(a) MS-Office (b) WebBrowser (¢) JAVA (d) ORACLE
81. Which one is the example of Peripheral device ?
(a) IP address (b) Printer
(c) MAC address (d) Computer address
82. Which of the following memory is not used by common user ?
(a) ROM (b) Hard Disk (HDD)
(c) RAM (d) Main Memory
83. Which of the following is an Object Oriented Programming Language of Computer ?
(a) ‘C’ Language (b) JAVA (¢c) MS-Windows (d) UNIX
84. Operating System has no role in
(a) Memory Management (b) Input/ Output Management
(c) Process Management (d) Virus Protection

85. Which of the following is used in DBMS ?

(a) MS-Word (b) MS-Excel (c) MS-PowerPoint (d) SQL
86. Which of the following is not a peripheral device ?

(a) CPU (b) Mouse (c) Printer (d) Screen
87. Which of the following is a part of CPU of a Computer ?

(a) Printer (b) Secondary Memory

(c) C.U. (d) CRT Screen
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Which of the following is mono-saturated fatty acid ?

(a) Lauric acid (b) Myristic acid

(c) Palmic acid (d) Oleic acid

Sonar makes use of

(a) Infrasonic sound (b) Ultrasonic sound
(¢) Ordinary sound (d) Light

Normal atmospheric pressure is .

(@) 76 mofHg (b) 76 cmofHg

(c) 76Pa (d) 76 Nm™

Alcohol 1s more volatile than water, because

(a) Its boiling point is lower than that of water.
(b) Itis an organic liquid.

(c) Its freezing point is lower than that of water.
(d) None of these

Chemically Aspirin is .

(a) Acetyl Salicylic Acid (b) Methyl Salicylate

(c) Ortho-hydroxy Benzoic Acid (d) Ethyl Salicylate

Insulin is the product of which endocrine gland ?

(@) Thyroid (b) Adrenal

(c) Pituitary (d) Pancreas

Bauxite is an ore of which metal (element) ?

(a) Gold (b) Copper

(c) Platinum (d) Aluminium

Hydrogen bomb is based on

(a) Nuclear fission (b) Artificial disintegration
(c) Nuclear fusion (d) Natural Radioactivity
Marsh gas mainly contains .

(a) Ethylene (b) Hydrogen Sulphide

(c) Chloroform (d) Methane

Which one among the following blood corpuscles are often called as the soldiers of the
body ?

(a) R.B.C. (b) W.B.C.

(c) Platelets (d) All the above

Kashi Vishwanath Corridor has been inaugurated in which of the following cities ?
(a) Ahmedabad (b) Ayodhya

(c) Bhopal (d) Varanasi

What is the name of the digital platform that would be used to track the beneficiaries for
COVID vaccination in India ?

(a) Atmanirbhar System (b) Arogya Setu System

(c) CoWIN System (d) Serum System

C.D.S. Late Sri Bipin Rawat was born at which of the following places ?
(a) Pauri (Uttarakhand) (b) Uttarkashi (Uttarakhand)

(c) Chamoli (Uttarakhand) (d) Dehradun (Uttarakhand)
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